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Warm Up...
1. Sketch the following triangle and find side b: \SD ” CH ” /}DH

AABC, given that angle A measures 90°, angle C easures 48° and side ¢ = 15 cm.

2. Sketch the following triangle and find the measure of angle B :

J

AABC, given that‘bangle A measures 90°, side a @24 c¢m and sidec =15 cm.
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REMEMBER...

 Anangle of elevation is measured from the horizontal upwards.
« Anangle of depression is measured from the horizontal downwards.
-—f"
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MORE APPLICATIONS...Example #1:

A communications tower has many guy wires

supporting it. Two of these guy wires are 10.0 m

and 8.0 m long. They are attached at the same

point on the ground. The longer wire has an

angle of inclination of 60°.

a) How far from the base of the tower are the
wires attached on the ground?

b) What is the angle of inclination of the
shorter guy wire?

¢) How far apart are the points where the guy
wires are attached to the tower?

Give the measures to the nearest tenth.

a.)'gccs ©0 = ] Uy

B3

6@ 13.a) 50m b) 513°

c) 24m
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EXAMPLE #2:

An antenna is on the top of the CN Tower in Toronto. From a point 2400 m away, the

angles of elevation to the top and bottom of the antenna are 12.4 and 9.9 respectively.
How tall is the antenna?
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"EXAMPLE #3:

9. Two office towers are 50 m apart. From the top

of the shorter tower, the angle of depression of
the base of the taller tower is 35°. The angle of I

elevation of the top of this tower is 25°.
ik . @ \\‘(

Determine the height of each tower to the
§ ok 17 7

nearest metre.

SO o
@&Ng“a

2.7 Solving Problems Involving More than One Right Triangle
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HOMEWORK... Do # 5 - 11 (omit 8)

Worksheet - Applications.pdf

b



Attachments

Q  Worksheet - Applications.pdf
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88 Chapter 10

* EXERCISES 10-3 P vroc

1. Solve each triangle- Give the answers to 1 decimal place.

a) c. B 5 . c) &
30 - 52 18
T 55 .
A B E 30 F B
d) ‘ e) f) U
L 62 N P " S
[
R
36\ 40°
27 4 40
- Q T
2. Solve AXYZ i# £ =90° and:
b) XX = 16, X = o%°

d) XZ =172, L7, =52

c) XZ = 51, YZ = 13
1) N»NWAP%NHNP

e) YZ = 32, /X = 64°
Give the answers to 1 decimal place.

3. Find the other two primary trigonometric ratios for each value of 9.

2 sin0 =15 b) cos 0 = o ¢ tan 0 = 3
emimum ovsium Cf ginww
-
4. Find expressions for the other mmBmQ trigonometric ratios for each value of 6.
a) sin6 =2 b) cos 0 = —5. ,e,EmnHU

q
5. At a point 28 m away, the angle of clevation of a building is 65° (below left).
a) How tall is the building?

b) How far is the observer’s eye from the top of the building?

28'm
6. A tightrope walker attaches

a cable to the roofs of two adjacent buildings (above

¢ is 21.5 m long and the angle of inclination is 12°.

" right). The cabl : . ....
h) What is the difference In their heights?

N Tlaw far anart are the buildings?

10-3 Solving Right IT1angie - «v=

7. A rectangle has length 10 cm and width 6 cm. Find the acute angle to the nearest
degree between the diagonals.

8. The length of rectangle ABCD is three times its width. Points M and N are the
midpoints of the longer sides AB and DC.

a) Find ZMAN. :
b) If Pis the midpoint of AD, find ZMPN.
Give the answers to the nearest degree.
in diameter, how high is the vertex of
the funnel above the bottom of the glass?
s to the observation deck of the Peace Tower in Ottawa had

10. Prior to 1982, visitor:
The Memorial Chamber at the base of the tower made a

" to ride two elevators.
vertical assent impossible. A new elevator. system carries visitors up the first 24.2 m

by travelling a path inclined at 10° to the vertical. Tt then rises vertically for the
balance of the trip.

a) How long is the elevator shaft that runs on the incline?

b) By how far is the elevator displaced horizontally by the incline?

¢) What is the slope of the incline to 2 decimal places?

9. A funnel is placed in a glass, as shown.
If the glass is 14.5 cm tall and 7.6 cm

11. Two office towers are 31.7 m apart. From the shorter one, the angle of elevation
to the top of the other is 27.5°, while the angle of depression to the base is 78.2°.

Find the height of each tower.
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9, 7.2 cm
¢) 5.67

b) 37°

8. a) 34°

7.6
10. @) 24.6 m

b) 43 m

68.2 m

11. 151.7
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